2009.11.20

http://cafe.naver.com/embeddedcrazyboys




STM32 USB Block Diagram
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STM32 USB interface
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USB Register= 16H|IE =

0x4000_5C50
0x4000_5C4C
0x4000_5C48
0x4000_5C44
0x4000_5C40

0x4000_5C1C
0x4000_5C18
0x4000_5C14
0x4000_5C10
0x4000_5C0C
0x4000_5C08
0x4000_5C04
0x4000_5C00

USB_BTABLE, Buffer table address
USB_DADDR, device address
USB_FNR, frame number register
USB_ISTR, interrupt status register
USB_CNTR, control register

USB_EP7R, endpoint register
USB_EP6R, endpoint register
USB_EP5R, endpoint register
USB_EP4R, endpoint register
USB_EP3R, endpoint register
USB_EP2R, endpoint register
USB_EP1R, endpoint register
USB_EPOR, endpoint register
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Buffer &
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cou
ADDR1_
COUNT1_TX
ADDR1_TX
COUNTO_RX
ADDRO_RX
COUNTO_TX
ADDRO_TX

0x4000_63FC

0x4000_6208
0x4000_6204
0x4000_6200

0x4000_60B0
0x4000_60AC

0x4000_6030

0x4000_600C
0x4000_6008
0x4000_6004
0x4000_6000




